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1) Find perimeter of 2)  Convert the following improper 3) 76 x 10
triangle fraction 79/, , + 342/, into amixed
a b 10 12
h=9060, a= 9765 number
c cm,
b=9935cm, c=
9986cm
Answer: Answer: Answer:
4) 55x 10 5)  Anamount was decreased by 9% to 6) Anamount was decreased by 9% to
$359.58. Find the original amount. $359.58. Find the origina amount.
Answer: Answer: Answer:
7) %5-1%4 8) Find the percentage change from 100 9) Find perimeter of
to 483 b rectangle having
sidesa=4217in
a and b=1389in
Answer: Answer: Answer:
10) Find perimeter of 11) Increase88by Y/ aa 12) 'What isthe probability of rolling a
b rectangle having even prime number.when rolling a
sidesa= 6368 m dice

a and b =5934 m

Answer:

Answer:

Answer:

13)
364~

Volume of Cone
32

Answer:

14) Convert the following fraction into a
mixed number: 76/

Answer:

15) 474473+ 617

Answer:
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16) Find area of 17) Find area of 18) Find the range of the following set of data:
. triangles=5702in < . triangles=5702in -1,-7,0.1,-13, 8, 8,0.3, 10, -4
s 5
Answer: Answer: Answer:
19) 20) Find the range of the following set of data: 21) Find the range of the following set of data:
Find the next three numbersin 0,2 9,17,-6,10,0,1, -2
the sequence
0112358 , .,
Answer: Answer: Answer:
22) Y 5g 0f 76 23) (10x20+4) + 2 24) (7 x 26) x (2 x 47)
Answer: Answer: Answer:
25) 81000 + 1000 26) Write8x 107 asanormal number. 27) Find area of
triangle
b b a=1006m,b=
3267 m
a
Answer: Answer: Answer:
28) Solve14j2+6j-15=0 29) Convert the following improper 30) 29.7x 84.2
Round your solutionsto 1 decimal fraction 11°/g + 13/, , into amixed
place. number
Answer: Answer: Answer:
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31) 36 5/10 -4 9/10 32) Convert thefollowing fraction into a 33)
mixed number: 65/36 Find the next three numbersin
the sequence
4510,11,22,2346_, ,
Answer: Answer: Answer:
34) 35) 36) 30% of 215

Find the next three numbersin Find the next three numbersin
the sequence the sequence
4,5,10,11,222346__, , 75,72,360,357,1785,1782,8910__, , |

Answer: Answer: Answer:

37)  2837+3520 38) 39)
Find VVolume of
Cylinder
‘Name the type of angle.
Answer: Answer: Answer:
40) 41) Find perimeter of 42) Round 3.753238355 to 6 decimal
40 Find Volume of sguare having each places.
38 | Cylinder s side (s) equals 1126 in
_ []
—~
s
Answer: Answer: Answer:
43) 2o x g 44) Find area of triangle | | 45) 115/, x 3619
a p h=9085m, a=
9270 m,
c b=9903m, c=
9993 m
Answer: Answer: Answer:
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whole number.

Answer:

Round your solutionsto 1 decimal
place.

Answer:

46) 3, +9 47) 48) 357/, + 64
12 7 Find the next three numbersin 16 2
the sequence
9,8,24,23,69,68,204 , ,
Answer: Answer: Answer:
49) 1152 + 12 50) Find perimeter of 51) Find perimeter of
triangle triangle
b ¢ a=5655inb= b ¢ a=5655inb=
ul 8625in, ul 8625 in,
a c=9772in a c=9772in
Answer: Answer: Answer:
52) Find perimeter of 53) Convert the following fraction into a 54) (Bx 102) +(2x 28)
square having each mixed number: 65/,
s side (s) equals 1032 m
s
Answer: Answer: Answer:
55) Share 24 intheratio 14:10 56) 57)  Simplify 53:52
Find the next three numbersin
the sequence
50,52,260,262,1310,1312,6560_, , |
Answer: Answer: Answer:
58) Round 6.38480724 to the nearest 59) Solve4g?-4q-15=0 60) Find the range of the following set of datar

3,009, 16,8,-0.2,-13

Answer:
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61) 5484.8+ 7847 62) 7298.8+5119 63) 2+ 271,
Answer: Answer: Answer:
64) Solve by factorising 65) Solve by factorising 66) 2816~ %
2-65+9=0 2-65+9=0
Answer: Answer: Answer:
67) 18x 10 68) 69)  40%,,x 63,
38 s>
Volume of Cone
31
Answer: Answer: Answer:
70)  Increase 129 by 2/ 13 71) 8382 + 6871 72) A number was shared in theratio
98:24. The smaller share was 48.
What was the larger amount?
Answer: Answer: Answer:
73)  Increase 209 by 15% 74)  8105.2 + 7419.2 75)
Find the next three numbersin
the sequence
56,50,75,69,94,88,113 , ,
Answer: Answer: Answer:
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76) Find area of 77) Find peri meter of 78) Find the mean of the following set of data:
b rectangle having . triangles= 6839 m 0.4,0.2,25,0.3,04
sidesa=9111m
a andb=6795m =
Answer: Answer: Answer:
79) 80) Increase 349.9 by 16% 81)
394~
'Name the type of angle. . Volume of Cone
Answer: Answer: Answer:

82) A number is chosen at random from 83) Solvel7s?-3s-3=0 84) 'What isthe probability of rolling a
1 to 75. Find the probability of Round your solutions to 1 decimal number less than 1.when rolling a
selecting number |ess than 16. place. dice

Answer: Answer: Answer:
85) 50.3x90.2 86) Convert thefollowing fraction into a 87) Convert the following fraction into a
mixed number: 42/, 5 mixed number: 42/, 5
Answer: Answer: Answer:
88) Anamount was decreased by 5% to 89) 520+ 10 90) Find perimeter of
$124.00. Find the origina amount. b rectangle having
sidesa=8655cm
a and b = 4182 cm
Answer: Answer: Answer:
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91)  07:46 am To02:30 pm 92) 20 20,-5 2 93) Find area of square
having each side (s)
s equals 4082 m
5
Answer: Answer: Answer:
94) Find area of square 95) 9 148 Of 296 96) 69 x (-98)
having each side (s)
s equals 1335 cm
s
Answer: Answer: Answer:
97) Round 30.45924698327 to the 98) 3960 + 60 99) 51.7x49.5
nearest whole number.
Answer: Answer: Answer:

100)  (-7804) + 9489

Answer:

Total: /100
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1) 29686cm
8) 383%
15) 76.9
22)2
13,

29) 2513/,
36) 64.5

7,
43) 7l4g
50) 24052in
57) 53 : 52

64) s=3or
3

71) 15253
78) 5.26
85) 4537.06
13
92) 1413/
99) 2559.15

2) 42Y,¢

9) 11212in

16) 14078457.106132in
23)

30) 2500.74

37) 6357

44) 44984377.5m

51) 24052in

58) 6

65)s=3o0r3

72) 196
79) Straight

86) 3%,

93) 16662724m
100) 1685

3) 760
10) 24604m
17) 14078457.106132in
24) 14680064
3

31) 31
38) Right

5
45) 418%¢
52) 4128m
59)gq=250r-15

66) 1Y/

73) 240.35
80) 405.884
3
87) 3%5
94) 1782225¢cm
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Answers:
4) 550 5) $327.22
11) 90 12) Yg
18) 23 19) 13,21,34,
25) 81 26) 80000000
32) 1944 33) 47,94,95,
39) 45364.597917837  40) 45364.597917837
46) 53/g 47) 203,609,608,
53) 65 54) 812
60) 29 61) 13331.8
67) 180 68) 38241.560174597
74) 15524.4 75) 107,132,126,
81) 62118.711539431  82) 1/
88) $117.80 89) 52
95) 18 96)

6) $327.22

13) 38603.800527311
20) 2

27) 438224.44277219m
34) 47,94,95,

41) 4504in

48) 5°%95

55)1:23

62) 12417.8

69) 2529/,

76) 61909245m
83)s=0.50r-0.3
90) 25674cm

97) 30

N1,

14) 122/,

21) 23
28)j=0.80r-1.3

35) 8907,44535,44532,
42) 3.753238

49) 96

56) 6562,32810,32812,
63) 10/,

70) 135

77) 20517m

84) 0,

91) 06 Hours 44 Mins
98) 66

http://www.geekschool.co.uk



http://www.geekschool.co.uk

